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QUESTION 1

What are three Rational Team Concert user interfaces? (Choose three.) 

A. Rational Team Concert web client 

B. Rational team Concert for Microsoft Visual Studio 

C. Customer Information Control System interface 

D. Rational Team Concert Eclipse client 

E. Rational Team Concert client for Microsoft Excel 

Correct Answer: ABD 

 

QUESTION 2

What is the main purpose of the work item discussion section? 

A. to add notes and exchange information about the work item 

B. to assign the owner of the work item 

C. to move the work item through its lifecycle to the resolved state 

D. to associate a work item with a release 

Correct Answer: A 

 

QUESTION 3

What are the development phases defined by the Formal Project Management process template? 

A. Inception, Elaboration, Construction, Transition 

B. Inception, Definition, Construction, Transition 

C. Design, Implementation, Testing, Deployment 

D. Requirements, Design, Implementation, Testing 

Correct Answer: D 

 

QUESTION 4

In a work item comment, a practitioner types in "defect 2632". Given that there is an existing work item with the ID
number 2632, which statement is true? 
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A. The current comment is copied and added as a comment to "defect 2632". 

B. A parent-child relationship is created between the current work item and "defect 2632" 

C. A link to "defect 2632" is created, and a click on the link opens the corresponding work item. 

D. The content of "defect 2632" is copied into the current comment. 

Correct Answer: C 

 

QUESTION 5

What are two types of work item approvals? (Choose two.) 

A. approval 

B. certification 

C. review 

D. validation 

E. confirmation 

Correct Answer: AC 
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